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1. Who was the first Governor of full fledged state of Himachal Pradesh? 

हिमाचल प्रदशे के पूर्ण राज्य के      राज्यपाल कौन   ? 

(a) A.C. Mehta  (b) N.C. Mehta (c) S. Chakravarti   (d) Jaiwant Ram 

2. Himachal Pradesh Public Service Commission was created on:  

 हिमाचल प्रदशे लोक सेवा आयोग कब ब     ? 

 (a) March 8, 1967 (b) April 8, 1971 (c) September 10, 1972 (d) January 9, 1967 

3. Who was appointed as first women chief justice of Himachal Pradesh? 

 हिमाचल प्रदशे की पिली महिला मुख्य न्यायाधीश के रूप में ककसे हनयुक्त ककया गया था? 

 (a) Justice Abhilasha Kumari  (b) Justice Indu Malhotra  

 (c) Justice Indira Banerjee  (d) Justice Leila Seth 

4. In which of the following year the Himachal Pradesh Public Services Guarantee Act passed?  

हनम्नहलहित में से ककस वर्ण में हिमाचल प्रदशे लोक सेवा गारंटी अहधहनयम पाररत ककया गया? 

 (a) 2001  (b) 2007 (c) 2010 (d) 2011 

5. Panini mentions ‘Trigarta’ as: 

पाहर्हन ने ‘हिगतण ’ का उल्लेि ककया ि:ै 

 (a) Ayudhajivi Sangh (b) Kingdom of Pearl    (c) Virat Janpad (d) None of these  

6. The word ‘Begar’ is a _______ 

' ब    ' क      शब्द ि?ै 

 (a) Hindi word (b) Sanskrit word (c) Persian word (d) Arabic word  

7. Indian Institute of Advanced Studies, Shimla was previously known as: 

 भारतीय उन्नत अध्ययन संस्थान, हशमला को पिल ेकिा जाता था: 

 (a) Peter Holf   (b) Viceroy Regal Lodge  (c) Rothney Castle (d) Kennedy Bhawan 

8. ‘Pajhoutha area’, where Pajhoutha Movement started, lies in which tehsil of Sirmour District?  

 पजौथा क्षेि, जिााँ पजौथा आदंोलन शुरू हुआ, हसरमौर हजले की  क  तिसील में हस्थत ि?ै 

 (a) Renuka Ji  (b) Rajgarh  (c) Pacchad  (d) Shillai 

9. During which year Kullu acquired the status of full district? 

कुल्लू ने ककस वर्ण पूर्ण हजले का दजाण प्राप्त ककया? 

 (a) 1963  (b) 1972 (c) 1966 (d) 1975 

10. Which district in Himachal Pradesh has the highest percentage distribution of net sown area during 

2011-12? 

हिमाचल प्रदशे के ककस हजल ेमें 2011-12 के दौरान क   बुवाई क्षेि का प्रहतशत सबस ेअहधक िै? 

 (a) Sirmour (b) Kangra (c) Una (d) Solan 

11. Which of the following is not a medium irrigation project in Himachal Pradesh? 

 हनम्नहलहित में से कौन हिमाचल प्रदशे में मध्यम ससंचाई पररयोजना निीं िै? 

 (a) Shahnehar Project (b) Changer Project (c) Sidhatha project (d) Balh Valley project 

12. At which of the following place does Yamuna river enters in the territory of Himachal Pradesh? 

हनम्नहलहित में से ककस स्थान पर यमुना नदी हिमाचल प्रदशे के क्षेि में प्रवेश करती िै? 

 (a) Paonta Sahib  (b) Khadar Majri (c) Shipki (d) Sansari 

13. Which of the following is not a well-known handicraft of Himachal Pradesh? 

हनम्नहलहित में से कौन हिमाचल प्रदशे का एक प्रहसद्ध िस्तहशल्प निीं िै? 

 (a) Wooden Carvings (b) Embroidery  (c) Paintings  (d) Brass furniture 

14. Nicholas Roerich associated with the famous Roerich Art Gallery at Naggar belongs to which of the 

following country? 
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हनकोलस रोररक, नग्गर में प्रहसद्ध रोएररच आटण गैलरी से संबंहधत ि,ै हनम्नहलहित दशे में से ि?ै 

 (a) Germany (b) Russia (c) Poland (d) France 

15. The beautiful Nagara art temples found in Himachal Pradesh are representative of: 

हिमाचल प्रदशे में पाए जाने वाले सुंदर नगर कला मंकदर इसके प्रहतहनहध िैं: 

 (a) Aryan art (b) Buddhist art (c) Chola art  (d) Gupta art 

16. What is the local meaning of ‘Shigri’ in Himachal Pradesh? 

हिमाचल प्रदशे में ‘हशगरी’ का स्थानीय अथण क्या ि?ै 

 (a) Glacier (b) Stream (c) Khad (d) Ghat 

17. According to 2011 census, which district of Himachal Pradesh has the highest sex ratio? 

2011 की जनगर्ना के अनसुार, हिमाचल प्रदशे के ककस हजले में सलंगानुपात सबसे अहधक ि?ै 

 (a) Hamirpur (b) Kangra (c) Mandi (d) Chamba 

18. Which district of Himachal Pradesh has the largest number of fair price shops during 2017-18? 

2017-18 के दौरान हिमाचल प्रदशे के ककस हजले में उहचत मूल्य की दकुानों की संख्या सबसे अहधक ि?ै 

 (a) Mandi (b) Shimla (c) Kangra (d) Chamba 

19. Which of the following is not a component of ‘Him Pargati’ monitoring system in Himachal Pradesh? 

हनम्नहलहित में से कौन हिमाचल प्रदशे में ‘हिम     ’ प्रर्ाली का एक घटक निीं ि?ै 

 (a) Welfare (b) Employment generation (c) Jan-Manch  (d) Forest 

20. Which of the following is not an herbal resource centre in Himachal Pradesh? 

हनम्नहलहित में से कौन सा हिमाचल प्रदशे में एक िबणल संसाधन कें द्र निीं िै? 

 (a) Dumreda (b) Jangal Jhalera (c) Nagni (d) Jogindernagar 

21. Who have been conferred Rajiv Gandhi Khel Rattan Award, 2019? 

राजीव गांधी िेल रतन पुरस्कार, 2019 ककसे प्रदान ककया गया ि?ै 

(a)  Deepa Malik and Bajrang Punia 

(b)  Mirabai Chanu and Virat Kohli 

(c)  Devendra Jhajharia and Sardar Singh 

(d)  Dhanraj Pillai and M.S Dhoni 

22. Door step banking facility named – ‘Bank on wheels’ - has been introduced by which bank? 

डोर स्टेप बैंककंग सुहवधा का नाम - on बैंक ऑन व्िील्स ’ककस बैंक द्वारा शुरू ककया गया ि?ै 

(a) Indian bank      (b) Union bank of India  (c) Indian overseas bank      (d) Punjab national bank 

23. The logo of Supreme Court- ‘Yato dharmastato jaya’ is taken from which Indian text? 

 सुप्रीम कोटण का लोगो ‘यतो धमणस्ततो: जया’ क    से हलया गया ि?ै 

 (a) Rig Veda (b) Katha Upnishad (c) Bhagavad Gita (d) Mundaka Upnishad 

24. School health and wellness ambassador initiative has been launched under which scheme? 

स्कूल स्वास््य और कल्यार् राजदतू पिल ककस योजना के तित शुरू की गई िै? 

 (a) Ayushman Bharat   (b) Swatch Bharat  

 (c) Ek Bharat Shresth Bharat   (d) National Health Mission 

25. Who is the author of book-‘Beyond 2020’? 

पुस्तक ‘Beyond 2020’ के लेिक कौन िैं? 

 (a) Shashi Tharoor  (b) A.P.J. Abdul Kalam and Y.S Rajan  

 (c) Ratan Tata   (d) Narayan Murthy 

26. ’NIRVIK’ scheme is related to what? 

 'NIRVIK' योजना ककस से संबंहधत ि?ै 

 (a) To enhance export (हनयाणत बढाने के हलए) 
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 (b) To improve health (स्वास््य को बेितर बनाने के हलए) 

 (c) To strengthen start-up (स्टाटण-अप को मजबूत करन ेके हलए) 

 (d) To improve education (हशक्षा में सुधार के हलए) 

27. ‘AMBIS’ System is related to what? 

 ‘AMBIS’ प्रर्ाली ककस से सबंंहधत ि?ै 

 (a) To nab the criminals (अपराहधयों पर नकेल कसने के हलए) 

 (b) To regulate discipline (अनुशासन को हवहनयहमत करने के हलए) 

 (c) To educate the people (लोगों को हशहक्षत करने के हलए) 

 (d) Name of show business (शो व्यवसाय का नाम) 

28. ‘Kala Ghoda Arts Festival’ is annually celebrated in which city of India? 

 काला घोडा कला मिोत्सव ’भारत के ककस शिर में मनाया जाता िै? 

(a) Kolkata (b) New Delhi  (c) Surajkund  (d) Mumbai 

29. Which state Pollution Control Board received national award for e-governance 2019-20? 

ई-गवनेंस 2019-20 के हलए ककस राज्य प्रदरू्र् हनयंिर् बोडण को राष्ट्रीय पुरस्कार हमला? 

(a) Andhra Pradesh (b) Karnataka  (c) Maharashtra (d) Haryana 

30. During Raisina 2020 India signed ‘Green Strategic Partnership’ with which country? 

रायसीना 2020 के दौरान भारत ने ककस दशे के साथ ‘ग्रीन स्रेटेहजक पाटणनरहशप’ पर िस्ताक्षर ककए? 

(a) Finland  (b) Denmark  (c) Hungry  (d) Latvia 

31. In which city of Gujarat first Silk Processing Plant was established by Khadi and Village Industries  

Commission (KVIC) in 2019? 

 िादी और ग्रामोद्योग द्वारा 2019 में गुजरात के ककस शिर में पिला रेशम प्रसंस्करर् संयंि आयोग (KVIC) स्थाहपत 

ककया गया था 

(a) Surat   (b) Rajkot   (c) Bhavnagar  (d) Surendernagar 

32. On which route first-trial run of double Stack Train was flagged in 2019? 

ककस रूट पर 2019 में डबल स्टैक रेन का पिला परीक्षर् ककया गया था? 

(a) Raipur-Cherrapunji  (b) Rewari-Madar (c) Khurda-Bilaspur (d) Ahmedabad-Mumbai 

33. Where BHEL commissioned the first lignite based 500MW thermal unit? 

भेल ने प्रथम हलग्नाइट आधाररत 500MW तापीय इकाई किााँ स्थाहपत की? 

(a) Bengaluru  (b) Chennei  (c) Neyveli  (d) Koraput 

34. What is Jan Aushadhi Suvidha? 

जन      सुहवधा क्या ि?ै 

(a) It is a mobile app (यि एक मोबाइल ऐप ि)ै 

(b) It is medical van (यि मेहडकल वैन ि)ै 

(c) It is centre of distribution of medicine (यि दवा के हवतरर् का कें द्र ि)ै 

(d) It is a way of treatment (यि उपचार का एक तरीका ि)ै 

35. Dadra and Nagar Haveli has been merged with which Union territories? 

दादरा और नगर िवेली को ककस कें द्र शाहसत प्रदशे में हमला कदया गया िै? 

(a) Lakshadweep  (b) Daman and Diu (c) Puducherry  (d) Andaman and Nicobar 

36. Who won the Nobel Prize in Economic Sciences in the year 2019? 

 वर्ण 2019 में आर्थणक हवज्ञान में नोबेल पुरस्कार ककसने जीता? 
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(a) Abhijit Banerjee (b) Esther Duflo (c) Michael Kremer (d) All of these 

37. Which of the following people of Indian origin have been taken as Minister in Boris Johnson’s 

cabinet? 

बोररस जॉनसन के मंहिमंडल में भारतीय मूल के हनम्नहलहित लोगों में से ककसे मंिी के रूप में हलया गया ि?ै 

(a) Priti Patel  (b) Alok Sharma (c) Rishi Sunak (d) All of these 

38. Which South Korean film won Oscar Award 2020 as Best Picture? 

ककस दहक्षर् कोररयाई किल्म ने सवणशे्रष्ठ हचि के रूप में ऑस्कर अवाडण 2020 जीता? 

(a) Parasite (b) American Factory   (c) Irishman  (d) The Two Popes  

39. ‘We Think Digital’ is a digital literacy programme launched by which technology company? 

‘वी सथंक हडहजटल’ ककस प्रौद्योहगकी कंपनी द्वारा एक हडहजटल साक्षरता कायणक्रम लॉन्च  क   ि?ै 

(a) Infosys  (b) T.C.S (c) I.B.M (d) Facebook 

40. Who won ‘The World 2019 BWF’ World Championship Women’s Single title? 

 ककसने ‘वल्डण 2019 BWF’ हवश्व चैहपपयनहशप महिला एकल हिताब जीता? 

(a) P.V Sindhu  (b) Nozomi Okuhara  (c) Ratchanok Intanon  (d) Chen Yufei 

41. Sanna Marin, the youngest Prime Minister, belongs to which country? 

सना माररन, सबसे कम उम्र के प्रधान मंिी, ककस दशे के िैं? 

 (a) Finland (b) Ukraine (c) North Korea (d) Salvador 

42. Arun-III is a hydropower project of which country, to be built with Indian assistance? 

अरुर्- III भारतीय सिायता से हनर्मणत, ककस दशे की जल हवद्युत पररयोजना िै? 

(a) Bhutan  (b) Nepal (c) China  (d) Maldives  

43.  Ramsar Sites are related to which? 

रामसर साइट ककसस ेसंबंहधत िैं? 

(a) Recognized wetland of international importance (अंतराणष्ट्रीय मित्व के मान्यता     वेटलैंड)  

 (b) Protected areas for tribal (आकदवासी के हलए संरहक्षत क्षेि) 

 (c) Security protection zones (       सुरक्षा क्षेि) 

 (d) Wild life Sanctuary (वन्यजीव अभ्यारण्य) 

44. What has been India’s position in international Human Development Index (HDI) 2019? 

अंतराणष्ट्रीय मानव हवकास सचूकांक (HDI) 2019 में भारत का स्थान क्या ि?ै 

(a) 130  (b) 129  (c) 128  (d) 127 

45. What is –‘Indo-Russian Innovation Bridge? 

‘    -रूसी इनोवेशन हिज क्या ि?ै 

(a) It is a bridge between two rivers in Moscow 

यि मॉस्को में दो नकदयों के बीच एक पुल ि ै

(b) It is an online platform to promote joint innovations 

यि संयुक्त नवाचारों को बढावा दनेे के हलए एक ऑनलाइन मंच ि ै

(c) It is a sky walk bridge built for an international conference  

यि एक अंतरराष्ट्रीय सपमेलन के हलए बनाया गया एक स्काई वॉक हिज ि ै

(d) It was built with partnership of two banks of India and Russia  

यि भारत और रूस के दो बैंकों की साझेदारी के साथ बनाया गया था 

46. Where is the headquarter of BRICS’s New Development Bank (NDB)? 

हिक्स के न्यू डवेलपमेंट बैंक (NDB) का मुख्यालय किााँ ि?ै 

 (a) Moscow (b) New Delhi  (c) Shanghai   (d) Pretoria 



Page 6 of 12 
 

47. World Anti-Doping Agency (WADA) has recently banned which country from International Sports 

events for four years? 

हवश्व डोसपंग रोधी एजेंसी (वाडा) ने िाल िी में चार साल के हलए अंतराणष्ट्रीय िेल आयोजनों में ककस दशे पर प्रहतबंध 

लगाया ि?ै 

(a) South Africa  (b) Ghana  (c) Brazil (d) Russia  

48. Who is the first woman to become The President of European Commission? 

यूरोपीय आयोग की अध्यक्ष बनने वाली पिली महिला कौन ि?ै 

(a) Ursula Vonder Leyen  (b) Angela Merkel 

(c) Jean-Claude Juncke   (d) Sophie Wilmes 

49. Which Indian has been given UNICEF’s Danny Kaye Humanitarian Award in 2019? 

2019 में ककस भारतीय को यूहनसेि का डनैी केय मानवतावादी पुरस्कार कदया गया िै? 

(a) Aamir Khan   (b) Priyanka Chopra  (c) Amitabh Bachan  (d) Shabana Azmi 

50. Which Day is celebrated as International Human Solidarity Day? 

ककस कदन को अंतराणष्ट्रीय मानव एकजुटता कदवस के रूप में मनाया जाता िै? 

 (a) 20
th

 December (b) 08
th

 March  (c) 22
nd

 December   (d) 05
th

 June 

51. Choose the true statement about propositions with respect to Motor Vehicles Act, 1988: 

Propositions: 

(I) Any person who is not for the time being disqualified for obtaining a driving licence if he passes 

the prescribed driving test. 

(II) Learner’s licence can be obtained by all who are otherwise not disqualified to drive a vehicle at 

public space. 

(III) Learner’s licence can be issued whether or not the applicant passes prescribed driving test. 

Assertations: 

(a) I and II are correct, III is incorrect   (b) II and III are correct, I is incorrect 

(c) I and III are correct, II is incorrect   (d) All are correct 

52. A learner’s licence issued under the Motor Vehicle Act, 1988 is effective throughout- 

(a) The sub-division in which it was issued  (b) The district in which it was issued 

(c)  The state in which it was issued   (d) All over India 

53. Which of the following provision of the Motor Vehicle Act, 1988 deals with the power of licensing 

authority to disqualify a person from holding a driving licence? 

(a) Section 16  (b) Section 17  (c) Section 18  (d) Section 19 

54. Where death or permanent disablement of any person has resulted from an accident arising out of the 

use of a motor vehicle or motor vehicles, the owner of the vehicle is liable to pay compensation in 

respect of such death or disablement. This liability is known as- 

(a) Fault liability (b) No-faulty liability  (c) Absolute liability  (d) Strict liability  

55. The Employment Exchanges (Compulsory Notification of Vacancies) Act, 1959 was enacted to 

provide for compulsory notification of vacancies to the Employment Exchanges. This act came into 

force with effect from__________________. 

(a) 1
st
 April, 1959  (b) 1

st
 May, 1959 (c) 1

st
 April, 1960 (d) 1

st
 May, 1960  

56. Under the Apprentice Act, 1961 a person shall not be qualified for being engaged as an apprentice to 

undergo apprenticeship training in any designated trade, unless he is not less than _______________ 

of age. 

(a) Fourteen years  (b) Sixteen years  (c) Eighteen years (d) Twenty-one years 

57. For the application of the Employees’ Provident Funds and Miscellaneous Provident Act, 1952 the 

minimum number of employees must be_______. 

(a) 10  (b) 20  (c) 30  (d) more then 30 
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58. Under the Maternity Benefit Act, 1961 “No woman shall be entitled to maternity benefit unless she has 

actually worked in an establishment of the employer from whom she claims maternity benefit for a 

period of not less than ______________ in the twelve months immediately preceding the date of her 

expected delivery”.: 

(a) one hundred and twenty days  (b) one hundred and thirty days 

(c) one hundred and sixty days   (d) one hundred and eighty days 

59. Which of the following provision of Industrial Dispute Act, 1947 defines industry? 

(a) Section 2 (c)  (b) Section 2 (h) (c) Section 2 (i) (d) Section 2 (j) 

60.  Which of the following is not considered as a tool in the hand of employer in term of employer-

employee relation? 

(a) Lay-off  (b) Retrenchment (c) Lockout  (d) Strike 

61.  What is the duration of advance notice to employer for a strike under Section 22 (1) (a) of Industrial 

Disputes Act, 1947? 

(a) 2 weeks  (b) 4 weeks  (c) 6 weeks  (d) 8 weeks 

62. What is maximum duration of working shift for children under Section 71 of Factories Act, 1948? 

(a) Four hours  (b) Four and half hours (c) Five hours  (d) Six hours 

63. Choose the true statement about propositions: 

Propositions: 

(I) Under the Motor Transport Workers Act, 1961 ‘motor transport undertaking’ means a motor 

transport undertaking engaged in carrying passengers only. 

(II) Under the Motor Transport Workers Act, 1961 ‘motor transport undertaking’ means a motor 

transport undertaking engaged in carrying passengers or goods or both. 

(III) Under the Motor Transport Workers Act, 1961 ‘motor transport undertaking’ means and 

includes private carrier as well. 

Assertations: 

(a)  I and II are correct, III is incorrect   (b)  II and III are correct, I is incorrect 

(c) I and III are correct, II is incorrect   (d) All are correct 

64. Choose the true statement about the propositions given bellow with respect to definition of expression 

‘Public Servant’ under the Motor Transport Workers Act, 1961: 

Propositions: 

(I) A member of a Panchayat assisting a Court is a public servant. 

(II) A receiver appointed by court is a public servant. 

(III) An arbitrator to whom any matter has been referred by a Court is not a public servant. 

Assertations: 

(a)   I and II are correct, III is incorrect   (b)  II and III are correct, I is incorrect  

(c)  I and III are correct, II is incorrect   (d) All are correct 

65. As per the Motor Transport Workers Act, 1961, the medical facilities including first-aid facilities are 

required to provided- 

(a) With each motor vehicle the undertaking only 

(b) At the head office of Undertaking only 

(c) At each operating centres of undertaking only  

(d) With each vehicle, office and operating centres of the undertaking 

66. Mr. A has worked for 280 days in total in a motor transport undertaking. Under the provisions of the 

Motor Transport Workers Act, 1961, he is entitled to _________ day’s annual leave with wages during 

the subsequent calendar year.  

(a) 10  (b) 12  (c) 14  (d) 15 
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67. Which of the following is not punishable under the Himachal Pradesh Prevention of Ticketless Travel 

in Road Transport Service Act, 1976? 

(a) Non-supply of ticked on demand  (b) Wilfully omission to supply a ticket 

(c) Supplying undervalued ticket  (d) Bona fide error in issuing valid ticket  

68. Which of the following is / are deemed to be ‘ticket’ as per the Himachal Pradesh Prevention of 

Ticketless Travel in Road Transport Service Act, 1976? 

(a) a duty pass issued under the authority of the State Transport Undertaking 

(b) a privilege card issued under the authority of the State Transport Undertaking 

(c) a courtesy pass issued under the authority of the State Transport Undertaking 

(d) All of the above 

69. If a person wilfully obstructs any servant of the State Transport Undertaking in the discharge of his 

duty, he shall be punishable with imprisonment ______________________ and fine which may extend 

to______________________ or both. 

(a)  Two months /  two hundred rupees 

(b)  Two months  / five hundred rupees 

(c)  Three months /  two hundred rupees 

(d)  Three months /  five hundred rupees 

70. Choose the true statement about the propositions given bellow with respect to the Himachal Pradesh 

Prevention of Ticketless Travel in Road Transport Service Act, 1976: 

Propositions: 

(I) ‘State Transport Undertaking’ means an undertaking established by state only to provide road 

transport service.    

(II)  ‘State Transport Undertaking’ means an undertaking established by central government or state 

for providing road transport service.  

(III) ‘State Transport Undertaking’ means an undertaking created under the Himachal Road Transport 

Corporation established under the Road Transport Act, 1950. 

Assertations: 

(a) I and II are correct, III is incorrect   (b) II and III are correct, I is incorrect 

(c)   I and III are correct, II is incorrect   (d) All are correct 

Directions for questions 71 & 72. In each question select the appropriate word that is opposite in meaning 

to the underlined word. 

71. The teacher rejected his ludicrous proposal. 

(a) Reasonable     (b) Stupid  (c) Farcical  (d) Awkward 

72. Squandering of money is a bad habit. 

(a) Stealing  (b) Discarding  (c) Donating  (d) Hoarding      

 Fill in the blank with the correct preposition:  

73. The slave refused to grovel _________ the feet of the master. 

(a) On   (b) By   (c) At     (d) upon 

Directions for questions 76 & 77. Find one word equivalent for the sentence given below: 

74. Government by divine laws. 

(a) plutocracy  (b) theocracy    (c) oligarchy  (d) meritocracy 

75. A small hill or mound is called as ________ 

(a)  hilly   (b) seat   (c) knoll    (d) minion 

Fill in the blank by choosing the correct connector given below:- 



Page 9 of 12 
 

76. Scarcely had he gone, ________ his friend knocked at the door. 

(a) when    (b) but  (c) as  (d) than 

 Directions for questions 79 & 80. Fill in the blanks with proper idiom & phrase given below. 

77. Ram’s all excuses seem a ________ story. 

(a) lock and key  (b) safe  and sound  (c) dove and cat (d) cock and  bull    

78. Blood and Bones are _________ of human body. 

(a) to and fro  (b) warp and woof   (c) quite and quiet (d) buzz and  bleat 

Directions for questions 79 & 80. Find / spot the error in the following sentences. 

79.  If I had / taken part / I will win / the prize. 

     a             b                   c               d 

80. “They had / went for Delhi / without me by the time / I reached there,” said she. 

        a                   b                                c                               d 

81. ‘आगे नाथ न पीछे पगिा’ इस लोकोहक्त में ‘नाथ’ शब्द का अथण ि:ै  

(a) बैल का स्वामी        (b) बैल की नाक की रस्सी      (c) बैल की पूाँछ की रस्सी         (d) बैल की गदणन की रस्सी 

82. 'अनहभज्ञ' शब्द में उपसगण के संयोजन का कौन-सा रूप सिी ि?ै 

(a) अन् + हभज्ञ  (b) अन + हभज्ञ  (c) अन +अहभ+ज्ञ  (d) अन्+ अहभ+ज्ञ 

83. 'अपराह्न' शब्द का अथण ि:ै 

(a) दोपिर से पिले  (b) दोपिर के बाद  (c) कदन का मध्यभाग  (d) प्रातः काल  

84. हनम्नहलहित में से कौन-सा शब्द शुद्ध ि?ै 

(a)  पररहशष्ठ   (b) पररहशष्ट   (c) पररशीष्ठ     (d) परीहशष्ट 

85. हनम्नहलहित में से कौन-सा वाक्य शुद्ध ि?ै  

(a) उसने अनेकों ग्रंथ हलिे।  (b) प्रत्येक वृक्ष िल निीं दते।े 

(c) इस पवणतीय क्षेि में सवणि शांहत ि।ै  (d) क्या यि संभव िो सकता ि?ै 

86. हनम्नहलहित में से कौन-सा शब्द तद्भव ि?ै 

(a) अंक   (b) अंचल  (c) अाँजुरी (d) अंकुश 

87. आमरर् का समास-हवग्रि ि:ै   

(a) मरर् के उपरांत  (b) पूर्णत: मरर्  (c) मरर् तक  (d) मरर् से पूवण  

88. हचरन्तन का हवलोम शब्द क्या ि?ै 

(a) अलौककक (b) क्षहर्क  (c) लौककक (d) नैसर्गणक 

89. 'वन' शब्द का सिी पयाणयवाची चुहनए: 

(a) हवजन (b) हवहपन (c) तुहिन (d) नहलन 

90.  हनम्नहलहित में से कौन-सा शब्द हवशेर्र् निीं ि?ै 

(a) हवघ्निताण  (b) सौंदयण  (c) प्रचुर  (d) ऐहन्द्रक 

91. Match the following: 

हनम्नहलहित को हमलाए:ं 

1) Compounding Techniques (i)    Procurement of finance 

        यौहगक तकनीक               हवत्त की िरीद 
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2) Discounting Techniques  (ii)   Acquisition of assets 

    हडस्काउंटटंग तकनीक           संपहत्त का अहधग्रिर् 

3) Investment decisions  (iii)  Terminal value  

      हनवेश के हनर्णय      अंत मूल्य 

4) Financing decisions  (iv)  Present value 

       हवत्तीय हनर्णय            वतणमान मूल्य 

Codes (कोड्स): 

(a) (1) (ii),  (2) (i),   (3) (iv), (4) (iii) 

(b) (1) (iii), (2) (i),   (3) (iv), (4) (ii) 

(c) (1) (ii),  (2) (i),   (3) (iii), (4) (iv) 

(d) (1) (iii), (2) (iv), (3) (ii),  (4) (i) 

92. X deposits ₹10,000 today at 6% rate of interest, in how many years will this deposit grow to ₹20,000? 

X ₹10,000 आज 6% की ब्याज दर पर जमा करता ि,ै यि जमा ककतने वर्ों में बढकर ₹20,000 िो जाएगा? 

(a) 5 years  (b) 8 years  (c) 10 years  (d) 12 years 

93. The time duration during which capital investment pay off its full value, is known as: 

वि         हजसके दौरान पूाँजी हनवेश का पूरा मूल्य चुकता िोता िै, उसे इस रूप में जाना जाता ि:ै 

(a)  Average rate of return  (b) Accounting rate of return  

     वापसी की औसत दर   वापसी की लेिा दर 

(c) Pay-back period   (d) Net present value 

      ऋर् वापसी की अवहध                            शुद्ध वतणमान मूल्य 

94. Which of the following is correct? 

(a)  Net Working capital = Current assets + Current liabilities 

    शुद्ध कायणशील पंूजी   = वतणमान संपहत्त + वतणमान दनेदाररयााँ 
(b) Net Working capital = Current assets – Current liabilities 

   शुद्ध कायणशील पंूजी   = वतणमान संपहत्त - वतणमान दनेदाररयााँ 

(c) Net Working capital = Current liabilities – Current assets 

        शुद्ध कायणशील पंूजी   = वतणमान दनेदाररयााँ  - वतणमान संपहत्त  

(d) Net Working capital = Current assets  

   शुद्ध कायणशील पंूजी   = वतणमान संपहत्त  

95. Which of the following is not a current liability? 

 हनम्नहलहित में से कौन एक वतणमान दयेता निीं िै? 

(a) Creditors (b) Bank overdraft (c) Retained earnings      (d) Outstanding salary 

       लेनदार       बैंक ओवरड्राफ्ट       प्रहतधाररत कमाई              बकाया वेतन 

96. A non-performing asset is a loan or advance for which the principal or interest payment remained 

overdue for a period of: 

एक गैर-हनष्पाकदत पररसंपहत्त एक ऋर् या अहग्रम ि ैहजसके हलए मूल या ब्याज भुगतान की अवहध के हलए अहतदये 

रिा 

(a) 60 days (b) 90 days (c) 120 days (d) 180 days 

97. Which of the following deals with NPA in India? 

हनम्नहलहित में से कौन भारत में एनपीए से संबंहधत ि?ै 

(a) FEMA (b) IBC (c) Sebi (d) NCLT 

98. Which of the following factors does not affect individual preference (time value of) for money? 

हनम्नहलहित में से कौन सा कारक पैसे के हलए व्यहक्तगत वरीयता (समय मूल्य) को प्रभाहवत निीं करता ि?ै 

  (a) Financing     (b) Investment opportunities (c) Preference for consumption  (d) Risk 
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                      हनवेश के अवसर             िपत के हलए वरीयता                जोहिम 

99. Which of the following truly denotes ‘Capital structure’? 

हनम्नहलहित में से कौन 'पंूजी संरचना' को वास्तव में दशाणता ि?ै 

(a) Equity (b) Debentures          (c) All the long-term resources        (d) Debentures and bonds 

                                                                    सभी दीघणकाहलक ससंाधन 

100. Which of the following statements is true? 

(a) Value of the firm is inversely related to the cost of all the inputs, including capital, being used by 

the firm 

िमण का मूल्य पंूजी सहित सभी इनपुटों की लागत के हवपरीत िै, हजसका उपयोग िमण द्वारा ककया जा रिा ि ै

(b) Value of the firm is directly related to the cost of all the inputs, including capital, being used by 

the firm 

िमण का मूल्य सीधे पंूजी से जुड ेसभी इनपुटों की लागत से संबंहधत िोता िै, हजसका उपयोग िमण द्वारा ककया 

जाता ि ै

(c) Value of the firm is independent of the cost of all the inputs, including capital, being used by the 

firm 

िमण का मूल्य पूाँजी सहित सभी हनहवहष्टयों की लागत स ेस्वतंि िोता िै, हजसका उपयोग िमण द्वारा ककया जाता 

ि ै

(d) Value of the firm is inversely related to the cost of all the inputs, except capital, being used by the 

firm 

िमण का मूल्य पंूजी के अलावा, िमण द्वारा उपयोग ककए जाने वाले सभी इनपुटों की लागत से हवपरीत ि ै

----------------------------------------------------------------------------------------------------------------------------------- 

SPACE FOR ROUGH WORK 
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जब  क   क          ब क          क     क   ज    ब  क             

------------------------------------------------------------------------------------------------------------------------------------------------------------------------------ 
TBC: TM/2019 
 

रैकिक मैनेजर के पद के हलए स्क्रीसनंग टेस्ट 

 क  टेस्ट बुकलेट 

कोड – 01 

 

टेस्ट बुकलेट सीरीज 

 

अनुगत समय : 02 घन्टे     क   अंक 100 

------------------------------------------------------------------------------------------------------------------------------------------------------------------------------ 

मित्वपूर्ण हनदेश 

1.         र        क        ब  ,    अंग्रेजी और सिदंी भार्ाओं में 100 प्रश्न युक्त      ब क    क             क      क      

क    ब      ,                                       ।           ,                 ब क        ज    ब      ज  । 

2. आपको टेस्ट बुकलेट में       कदए गए बॉक्स में अपना रोल नंबर       िोगा। 

टेस्ट बुकलेट पर कुछ और न हलिें। 

 

3. आपको अलग       ओएमआर          पर         उत्तर / हवकल्प हचहह्नत क    ि।ै इस शीट पर मुकद्रत 'शीट भरन ेके हलए 

हनदेश' पढें। 

4. इससे पिल ेकक आप ब्ल ूया ब्लैक पॉइंट बॉल पने के साथ ओएमआर          पर टेस्ट बुकलेट में कदए गए प्रश्नों के उत्तर को 

एनकोड करें आपको शीट में प्रदान ककए गए आयताकार बक्से में      रोल नंबर, एहललकेशन नंबर, टेस्ट बुकलेट सीरीज, प्रश्न पि 

      क  कोड और परीक्षा कें द्र क      ध्यान से और हबना ककसी चूक या हवसंगहत के भरना ि।ै 

5. कृपया ध्यान दें कक यि उपमीदवार की हजपमेदारी ि ैकक वि ब्लू या ब्लैक पॉइंट बॉल पेन के साथ      रोल नंबर, टेस्ट बुकलेट 

सीरीज़ (ए / बी / सी या डी) और एहललकेशन नंबर के सकणल को एनकोड हबना ककसी चूक या हवसंगहत के क  । कोई भी चूक / 

हवसंगहत ओएमआर          की अस्वीकृहत के हलए उत्तरदायी     । 

6. प्रत्येक प्रश्न के चार हवकल्प िैं। आप उस उत्तर / हवकल्प का चयन करें हजसे आप ओएमआर          पर एनकोड करना चाित े

िैं।     आपको लगता ि ैकक एक से अहधक उत्तर / हवकल्प सिी िैं    उस     / हवकल्प को एनकोड करें हजसे आप सबसे अच्छा 

मानते िैं। ककसी भी हस्थहत में, प्रत्येक प्रश्न के हलए केवल एक उत्तर / हवकल्प चुनें। 

7. सभी     क  अंक समान िैं।  फ़ क    क      टेस्ट बुकलेट के अतं में     संलग्न ि।ै 

8. ओएमआर          पर उत्तर / हवकल्प एनकोड क    के बाद और परीक्षा समाप्त         आप केवल ओएमआर          िी 

हनरीक्षक को सौंप    । आपको टेस्ट बुकलेट अपने साथ ल ेजाने की अनुमहत ि ै। 

9. नोट: - सभी प्रश्नों के हलए गलत उत्तर (जैसा कक नीचे हवस्ततृ ि)ै के हलए नकारात्मक अंकन िोगा: 

(a)      क प्रश्न के उत्तर के हलए चार हवकल्प िैं। प्रत्येक प्रश्न के हलए, हजसके हलए उपमीदवार द्वारा गलत उत्तर कदया गया उस प्रश्न 

को कदए गए अंकों के  क       (0.25) दंड के रूप में कटौती की जाएगी। 

(b)   यकद कोई उपमीदवार एक से अहधक उत्तर देता ि,ै तो उसे गलत उत्तर माना जाएगा, भले िी कदए गए उत्तरों में से एक सिी 

िो और उस प्रश्न के हलए                      ज     । 

(c)   यकद कोई प्रश्न िाली छोडा जाता ि ैयानी उपमीदवार द्वारा कोई उत्तर निीं कदया जाता िै, तो उस प्रश्न के हलए कोई दडं निीं 

िोगा । 

10. यकद ककसी प्रश्न के चार हवकल्पों में से एक सिी उत्तर के बजाय दो सिी उत्तर या समान / दोिराए गए उत्तर िैं, तो उन सभी 

उपमीदवारों को जो इन दोनों सिी / समान / दोिराए गए उत्तरों में से ककसी एक को एन्कोड करेंगे, उन्िें उस प्रश्न के हलए आवंरटत 

  क       क   ज     । 

11. प्रश्न के अगं्रेजी और सिदंी संस्करर् में पाई गई ककसी भी हवसंगहत के मामले में, अंग्रेजी संस्करर् को सिी और अंहतम माना ज     । 

मोबाइल िोन या ककसी भी संचार हडवाइस का उपयोग परीक्षा में प्रहतबहंधत ि ै


